AR~DIEALE
N [ = SH~ vik=1 -9 wik=1 7] =1 -9 vik=1 71 =1 N =1 2=
wme | 5| ® ) EH Bt THMMEE | ERSBEE | LENBEeE | ARNEeE | TENeE | cEneE
[P 1 2 L A 27 49 55 (128 52 20] 27 55 35129 0 10
mzE 2 1 E+F ~ED 27 44 40 [128 52 20] 27 50 20129 0 10
A=) 2 2 W WA 27 39 20128 52 20] 27 45 0 [129 0o 10
E2E 8 2 Ak BEERE BEDZLALFEESS 27 21 10 ]128 37 0 | 27 26 50| 128 44 45
H2E 8 4 ok RE SR BEDZLALEELVA 27 19 10]128 30 o0 |27 24 50128 37 45
BmZER 14| 3 FH 21l [NoYYe) 27 44 40 | 128 59 20 ] 27 50 20 [129 7 10
BZER 14 ] 4 &F MmHD 27 39 40 |128 59 20] 27 45 20]129 7 10




